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1|1D 100963| 3,0 |Oplik 3,013,0(3,0
2|D 99332|pop|brak N 3,0 3,013,0(3,0
3|D 99846| 2,0 [pT, war. Brzegowe pw, R ,N pop|wektor P 0,0{0,0
4|D 99847 3,0 [ps, pT 4,0 4,0[4,0[40
5|D 99333 Oplik 2,0 |niedokonczone, pT 2,0]2,0]2,0
6|D 99335| 2,0 [wp, wk, jednostki, niedokonczone 2,0 |wektor P, TWN 2,012,0(2,0
7|D 99338| 3,0 [wp, wk 3,013,0]3,0
8|D 99849| 2,0 (A1, wp, wk, pS 2,0 |wektor P, warunki brzegowe 2,012,0](2,0
9D 99850( 3,0 [pT 3,013,0] 3,0
10(D 99851| 2,0 |niedokorniczone 3,0 3,0]13,0(3,0
11|1D 100510 pop|wp,wk, pS 3,0 3,013,0| 3,0
12|D 99865| 3,0 |pS 3,013,0(3,0
13|1D 99383 Oplik 2,0 |wp, wk, przem 10715, sity N 2,012,0]2,0
14 97346| 2,0 [niedokonczone, pS, agregacja pop|war. Brzeg 0,0/ 0,0
15 0,0(0,0
16 0,0(0,0
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1|1D 99371] 2,0 |wektor P, brak N, R 3,0 3,013,0(3,0
2(D 100517/ 2,0 |brak pT, war. brzegowe, N 3,0 3,013,0/ 3,0
3|1D 993731 3,0 3,513,5(3,5
41D 98786| 3,5 3,5135]3,5
5|D 99859| 3,5 3,513,5(3,5
6|D 99374 3,5 5,0 5,0]5,0| 5,0
7|1D 98129] 3,5 5,0 5,015,0(5,0
8|D 96009| 3,0 |[lub od nowa 3,013,0/ 3,0
12 98195| 3,5 3,513,5(3,5
13 98191] 3,5 3,513,5]| 3,5
14
15
16




FHHE
Z Z wls|2|z|o
O |= O = 8 5 é & '5
x (O x (O o | &
o< o< l1o|Q &
LP Abum | 2|3 ° 13 N =
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1|1D 99214 3,5 3,513,5(3,5
2|1D 99385] 3,0 |pT 4,0 4,014,0(4,0
3|D 99973| 3,0 [geometria - lustro 3,013,0(3,0
41D 100520( 3,5 3,5135]3,5
5|D 99867] 3,0 3,013,0(3,0
6[D 99388/ 3,5 3,5135]3,5
7|1D 99390] 3,5 3,513,5(3,5
8[D 99868/ 3,5 3,5135]| 3,5
9|1D 99391] 3,0 [temp, wektor P 4,0 4,0| 4,0 4,0
10(D 96040 2,012,0]2,0
1 99409| 3,0 [wektor P, wykres przem 3,013,0(3,0
12 99411] 2,0 |wp,wk, X, Y, niedokonczone 2,0 |wektor P, brak T, niedokonczone 2,0]2,0]2,0
13|pod 99398 3,0 |zle P, brak T, N 3,013,0( 3,0
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